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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

SCIENCE AND CIVILIZATION 

Time : One and half hours Maximum : 50 marks 

SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Explain in detail about Neolithic age of metals. 

 ÌZàË Äñý¬MæüP °Äñý*Í¤MŠü Ä¶ý¬Væü… Væü$Ç…_ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

2. Give an account on the significance discoveries in medical field during 20th 

Century. 

 20 Ð@þ Ô¶ý™éºªÐ@þ¬ÌZ  OÐðþ§æþÅÆæÿ…Væü…ÌZ Væü$Ç¢…ç³§æþW @̄þ Ð@þ¬QÅOÐðþ$¯@þ BÑçÙPÆæÿ×ýËOò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ 
{ÐéÄ¶ý¬Ð@þ¬. 

3. Describe the importance of Mathematics. 

 Væü×ìý™èþÐ@þ¬ Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

4. Give an account on the invention of Steam engine. 

 BÑÇ C…h Œ̄þ Äñý¬MæüP BÑçÙPÆæÿ×ýOò³ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

5. Explain the Non conventional energy source with example. 

 Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢Ð@þ @̄þÆæÿ$Ë @̄þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ$Ð@þ¬. 

6. Explain about biological killers. 

 iÐ@þ MìüËÏÆŠÿË Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 SECTION B — (3 × 4 = 12 marks) 

 Answer any THREE questions. 

7. (a) Insulin  

  C @̄þ$ÞÍ¯Œþ  

 (b) Computer 

  Mæü…ç³NÅrÆŠÿ 

 (c) Teleprinter  

  sñýÍ{í³…rÆŠÿ 

 (d) DDT 

  yìþ.yìþ.sìý 



  

   

   

 (e) Atomic power 

  A×ý$Ô¶ýMìü¢ 

 (f) Solar energy 

  ÝûÆæÿÔ¶ýMìü¢ 

 (g) Security  

  ¿¶ý{§æþ™èþ 

 (h) Iron 

  C @̄þ$Ð@þ¬ 

 (i) Satellite 

  Eç³“VæüçßýÐ@þ¬ 

 SECTION C — (3 × 4 = 12 marks) 

 Answer ALL questions. 

8. Fill in the blanks :- 

 (a) _____ invented pencillin. 

  _____ - -ò³°ÞÍ Œ̄þ @̄þ$ GÐ@þÆæÿ$ Mæü @̄þ$Vö¯é²Ææÿ$? 

 (b) Fertilizers are used in _____. 

  GÆæÿ$Ð@þ#Ë$ GMæüPyæþ Ðéyæþ$™éÆæÿ$ _____. 

 (c) ILO means _____. 

  I.GÌŒý.K A @̄þV> ó̄þÑ$ _____. 

 (d) Radium therapy is for _____. 

  ÆóÿyìþÄ¶ý$… _Mìü™èþÞ _____ MøçÜ… 

9. Choose the correct answer :- 

 (a) Blue baby syndrome is due to  

  º*Ï »ôý¼ íÜ…{yøÐŒþ$ §óþ° Ð@þË @̄þ Ð@þçÜ$¢…¨  

  (i) Mercury (iii) Lead 
   ´ë§æþÆæÿçÜÐ@þ¬  ïÜçÜÐ@þ¬ 

  (ii) Nitrates (iv) Phosphates 
   Ō ðþ{sôýsŒýË$   ¸ëõÜµr$Ï 

 (b) Radio was invented by 

  ÆóÿyìþÄñý* @̄þ$ GÐ@þÆæÿ$ Mæü°ò³sìýtÇ? 

  (i) Thomas (iii) Biard 
   £øÐ@þ$‹Ü  »ñýÆæÿ$z 



  

   

   

  (ii) Johane Gutenberg (iv) Gulimo Marconi 
   gê Œ̄þ Væü$sñý Œ̄þºÆŠÿY  Væü$ÍÐðþ* Ð@þ*ÆöP° 

 (c) Pesticides are used 

  ç³#Ææÿ$Væü$Ë Ð@þ$…§æþ$Ë$ §óþ°Mìü Eç³Äñý*WÝë¢Ææÿ$? 

  (i) to increase production (iii) To stop floods 
   E™èþµ†¢° ò³… è̂þyé°Mìü  Ð@þÆæÿ§æþË$ Bç³yé°Mìü  

  (ii) To kill insects (iv) To bring rain 
   MîürM>Ë @̄þ$ è̂þ…ç³yé°Mìü  Ð@þÆæÿÛ… MöÆæÿMæü$ 

 (d) Geothermal energy 

  ¿¶ý* EçÙ~Ô¶ýMìü¢ 

  (i) Conventional energy (iii) Non conventional energy 
   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢  Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

  (ii) Chemical energy (iv) Atomic energy 
   ÆæÿÝëÄ¶ý$ @̄þ Ô¶ýMìü¢  A×ý$Ô¶ýMìü¢ 

10. Match the following. 

 (a) H2SO4  (i) Communication 
  H2SO4   ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

 (b) Television  (ii) Conventional energy 
  sñýÍÑf Œ̄þ   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢ 

 (c) Wind energy (iii) Acid rains 
  V>ÍÔ¶ýMìü¢   BÐ@þ$ÏÐ@þÆ>ÛË$ 

 (d) Electricity  (iv) Non Conventional energy 
  Ñ§æþ$Å è̂þeMìü¢   Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

———————— 



  

     (DBMAT31) 

B.A/B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Mathematics  

Paper III –  RINGS AND LINEAR ALGEBRA 

Time : Three hours Maximum : 70 marks 

SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, Each question carries 3 marks. 

1. Explain about Cancellation law in a ring R  

 Ð@þËÄ¶ý$Ð@þ¬ R ÌZ MösìýtÐóþ™èþ ¯éÅÄ¶ý$Ð@þ¬ è̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

2. Show that a field has no Zero divisors. 

 „óü{™èþÐ@þ¬ Ô¶ý* @̄þÅ¿êfMæü Ææÿ íßý™èþÐ@þ$° è̂þ*ç³#Ð@þ¬. 

3. Show that every field is an integral domain.  

 {ç³† „óü{™èþÐ@þ¬ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ$° è̂þ*ç³#Ð@þ¬. 

4. Show that the homomorphic image of a Commutative ring is a Commutative ring. 

 JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý*°Mìü çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬, JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

5. Define Linear Span. Prove that L(S) is a subspace of V(F). 

 º¬k Ñ™èþí³¢° °ÆæÿÓ_…_, çÜ¨Ô>…™èþÆ>â¶ý… V(F) Mæü$ L(S) JMæü E´ë…™èþÆ>â¶ý… A° °Ææÿ*í³… è̂þ…yìþ. 

6. Determine whether or not the following vectors form a basis of �� (1,1,2), (1,2,5), (5,3,4). 

 �� ÌZ (1,1,2), (1,2,5), (5,3,4) çÜ¨Ô¶ýË$ B«§éÆ>°² HÆæÿµÆæÿ è̂þ$¯ø Ìôý§ø Mæü¯@þ$MøP…yìþ. 

7. Derive Rank and Nullity of T 

 ç³ÇÐ@þÆæÿ¢̄ é Møsìý Ð@þ$ÇÄ¶ý¬ ç³ÇÐ@þÆæÿ¢̄ é Ô¶ý* @̄þÅ™èþ T @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 

8. Prove that the two matrices � and ����� have the same characteristic roots. 

 Æðÿ…yæþ$ Ð@þ*{†Mæü �, ����� Ë$ JMóü Ìê„ìü×ìýMæü Ð@þÊÌêË @̄þ$ MæüÍW E…sêÄ¶ý$° è̂þ*ç³…yìþ. 

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries 11½ marks. 

9. (a) (i) Show that a finite integral domain is a field. 

  (ii) Show that the intersection of two sub-rings of a ring R is a sub-ring of R. 

  (i) ç³ÇÑ$™èþ ç³NÆ>~…Mæü {ç³§óþÔ¶ýÐ@þ¬, JMæü „óü{™èþÐ@þ$Væü$ @̄þ° è̂þ*ç³#Ð@þ¬. 
  (ii) Ð@þËÄ¶ý$Ð@þ¬ R Mìü Æðÿ…yæþ$ Eç³Ð@þËÄ¶ý*Ë bóþ§æþ @̄þÐ@þ¬ R Mìü Eç³Ð@þËÄ¶ý$Ð@þ$Væü$ @̄þ$ @̄þ° è̂þ*ç³#Ð@þ¬. 

 Or 



     

   

 (b) (i) Define Kernal of a homomorphism on rings. 

  (ii) If R is a commutative ring with unit element and M is an ideal of R, then M is a 

maximal ideal of R iff R/M is a field. 

  (i) Ð@þËÄ¶ý$çÜÐ@þ$Ææÿ*ç³™èþ MðüÆæÿ²ÌŒý (A…™èþçÜ¦Ð@þ¬) @̄þ$ °ÆæÿÓ_… è̂þ$Ð@þ¬. 
  (ii) Ä¶ýÊ°sŒý Ð@þÊËMæüÐ@þ¬ MæüÍYÄ¶ý¬…yìþ Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ¬ R Ð@þ$ÇÄ¶ý¬ M IyìþÄ¶ý$ÌŒý R Mìü M A«̈ Mæü™èþÐ@þ$   
   IyìþÄ¶ý$ÌŒý AVæü$rMæü$ BÐ@þÔ¶ýÅMæü, ç³Æ>Åç³¢ °Ä¶ý$Ð@þ$Ð@þ¬ R/M  JMæü „óü{™èþÐ@þ¬. 

10. (a) (i) Prove that a set of vectors which contains the zero vector � is linearly dependent. 

  (ii) Prove that a system consisting of a single non-zero vector is always linearly 

independent. 

  (i) Ô¶ý* @̄þÅçÜ¨Ô¶ý � Ð@þÊËMæüÐ@þ¬V> MæüÍW @̄þ {ç³† çÜ¨Ô> çÜÑ$† º¬kç³Æ>«©¯@þÐèþ$° è̂þ*ç³…yìþ. 
  (ii) JMóü JMæü Ô¶ý* ó̄þÅ™èþÆæÿ çÜ¨Ô¶ý Ææÿ$kÝëÓ™èþ…{™èþÅ çÜÑ$†° HÆæÿµÆæÿ$ è̂þ$ @̄þ° è̂þ*ç³…yìþ. 

 Or 

 (b) If w be a subspace of finite dimensional vector space V(F), then prove that dim�

�� =

dim� − dim� 

  ç³ÇÑ$† ç³ÇÐ@þ*×ý çÜ¨Ô>…™èþÆ>âê°Mìü V(F) E´ë…™èþÆ>â¶ýÐ@þ¬ AÆÿ¬™óþ dim�

�� = dim� − dim�   

  A° è̂þ*ç³…yìþ. 

11. (a) (i) Find the characteristic equation of the matrix � = � 2 −1 1−1 2 −11 −1 2 � and verify that 

it is satisfied by A. 

  (ii) Find ��� if � = �3 1 12 4 21 1 3� 

  (i) � = � 2 −1 1−1 2 −11 −1 2 �	 Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬ @̄þ$ Mæü @̄þ$MøP…yìþ. D Ìê„æü×ìýMæü   

   çÜÒ$MæüÆæÿ×ýÐ@þ¬ A çÜ…™èþ–í³¢ ç³Ææÿ$çÜ$¢…§æþ° è̂þ*ç³…yìþ.  

  (ii) � = �3 1 12 4 21 1 3�  AÆÿ¬™óþ ���   ° Mæü¯@þ$MøP…yìþ. 

 Or 

 (b) (i) Find the rank of the matrix � = �1 3 2 12 4 5 34 6 6 12� 
  (ii) State and prove Cayley-Hamilton theorem. 

  (i) � = �1 3 2 12 4 5 34 6 6 12�   Ð@þ*{†Mæü Äñý¬MæüP Møsìý° Mæü @̄þ$MøPyìþ. 

  (ii) MðüÎ & õßýÑ$Ët̄ Œþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 



     

   

12. (a) (i) State and prove Cauchy-Schwarz's inequality theorem. 

  (ii) If � = {�2,1,3�, �1,2,3�, �1,1,1�} is a basis of ��, construct an orthogonal basis. 

  (i) MöíÙ & ÚëÓÆŠÿj AçÜÐ@þ* @̄þ™èþ íÜ§é®…™èþÐ@þ¬¯@þ$ {ÐéíÜ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii) �� @̄þMæü$ � = {�2,1,3�, �1,2,3�, �1,1,1�} JMæü B«§éÆæÿÐ@þ$Æÿ¬™óþ JMæü Ë…»êÀË…º B«§éÆ>°² °ÇÃ… è̂þ…yìþ. 

 Or 

 (b) (i) State and prove Bessel's Inequality. 

  (ii) Find a unit vector orthogonal to (4,2,3) in R3 interval. 

  (i) »ñýçÜÞÌŒýÞ AçÜÐ@þ* @̄þ™èþ @̄þ$ {ÐéíÜ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii) R3 A…™èþÆ>â¶ý…ÌZ (4,2,3) çÜ¨Ô¶ýMæü$ Ë…º…V> E…yóþ Ä¶ýÊ°sŒý çÜ¨Ô¶ý @̄þ$ Mæü @̄þ$MøP…yìþ. 

———————— 
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BA DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Mathematics 

Paper — IV : NUMERICAL ANALYSIS 

Time : Three hours Maximum : 70 marks 

SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, each question carries equal marks. 

1. Construct finite forward difference table for the function � = ��. 

 � = ��  { ç³Ðóþ$Ä¶ý*°Mìü ç³ÇÑ$™èþ ç³#ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ °ÇÃ… è̂þ…yìþ.  

2. (a) Define averaging operator �. 

 (b) Define Shift operator. 

 (a) Averaging Operator � @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 
 (b) Shift operator @̄þ$ °ÆæÿÓ_… è̂þ…yìþ. 

3. Evaluate (a) ∆� sin(�� + �) (b) ∆(�����) 

 (a) ∆� sin(�� + �) (b) ∆(�����)	Ë ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ. 

4. Find the missing term in the following data 

x 0 1 2 3 4 

y 1 3 9 - 81 

 D“Mìü…¨ ç³sìýtMæüÌZ° ÌZí³…_¯@þ RêäË @̄þ$ Mæü @̄þ$MøP…yìþ. 
x 0 1 2 3 4 

y 1 3 9 - 81 

5. Explain Iteration method 

 C{sìýçÙ Œ̄þ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

6. Write Evertt's formula 

 GÐ@þÆŠÿtÞ çÜ*{™é°² {ÐéÄ¶ý$…yìþ. 

7. Explain simpson's ⅜th rule 

 íÜ…ç³Þ Œ̄þÞ ⅜th rule @̄þ$ ÑÐ@þÇ…_…yìþ. 

8. Explain Matrix inverse method. 

 Ð@þ*{†M> ÑÌZÐ@þ$ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 



     

   

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries equal marks. 

9. (a) (i) State and prove Newton's Forward interpolation formula. 

  (ii) If �� = 1,�� = 0, �� = 5,�� = 22,�� = 57.	Find ��. . 

  (i) @̄þ*r Œ̄þÞ ç³#ÆøVæüÐ@þ$¯@þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
  (ii) �� = 1, �� = 0, �� = 5, �� = 22,�� = 57	AÆÿ¬™óþ ��.  ÑË$Ð@þ @̄þ$ Mæü @̄þ$MøP…yìþ. 

 Or 

 (b) (i) State and prove Lagranses interpolation formula. 

  (ii) Using divided difference table, find !(�), which takes the values 1, 4, 40, 85 at 
� = 0, 1, 3, 4. 

 (i) Ìñý“V>…gŒý A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 
 (ii) � = 0,1, 3, 4		Ð@þ§æþª !(�) = 1, 4, 40, 85 AÆÿ¬™óþ Ñ¿êh™èþ Ð@þÅ™éÅçÜ (difference) ç³sìýtMæü §éÓÆ>  
   !(�), @̄þ$ Mæü @̄þ$MøP…yìþ. 

10. (a) State and prove Gauss Forward Interpolation formula. 

  Vú‹Ü ç³#ÆøVæüÐ@þ$ @̄þ A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

 Or 

 (b) (i) Use stirling formula to find �� , given �� = 5225, �% = 4316, ��� = 3256, ��� = 1926, 
��� = 306. 

  (ii) Find the value of �� , using Bessle's formula if ��� = 2854, ��� = 3162, ��( = 3544,
��� = 3992. 

  (i) �� = 5225, �% = 4316, ��� = 3256, ��� = 1926, ��� = 306 AÆÿ¬ @̄þç³šyæþ$ òÜtÇÏ…VŠü çÜ*{™é°²   
   Eç³Äñý*W…_  �� ÑË$Ð@þ @̄þ$ Mæü¯@þ$MøP…yìþ. 
  (ii) ��� = 2854, ��� = 3162, ��( = 3544, ��� = 3992  AÆÿ¬™óþ »ñýòÜÌŒýÞ çÜ*{™é°² Eç³Äñý*W…_ 
   ��  ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 

11. (a) Using Romberg's integration, Calculate )
�

*+, �
-�

½
�  correct to 4 decimal places. 

  Æ>…ºÆŠÿY çÜÐ@þ*MæüË°  ) �

*+, �
-�

½
�  ° 4 decimal Ýë¦̄ éËÌZ Calculate ó̂þÄ¶ý$…yìþ. 

 Or 

 (b) Evaluate ) √1 + ��
�
� -� using Simpson's ⅜th rule. 

  ) √1 + ��
�
� -� @̄þ$ íÜ…ç³Þ Œ̄þÞ  ⅜th rule §éÓÆ> Mæü @̄þ$MøP…yìþ. 

12. (a) (i) Find root of the equation �� − � − 1 = 0 by Bisection method. 

  (ii) Find a real root of � = �1� by iteration method. 

  (i) Bisection ç³§æþ®† §éÓÆ> �� − � − 1 = 0 çÜÒ$MæüÆæÿ×ýMæü$ JMæü ÐéçÜ¢Ð@þ Ð@þÆæÿY… Mæü @̄þ$MøP…yìþ. 
 (ii) C{sñýçÙ Œ̄þ ç³§æþ®† §éÓÆ> � = �1� ¯@þMæü$ JMæü ÐéçÜ¢Ð@  Ð@þÆ>Y°² Mæü @̄þ$Vö¯@þ$Ð@þ¬. 

 Or 



     

   

 (b) Solve the following equations by Gauss-Sidel method. 

   10�� − 2�� − �� − �� = 3 

   −2�� + 10�� − �� − �� = 15 

   −�� − �� + 10�� − 2�� = 15 

   −�� − �� − 2�� + 10�� = −9. 

   (Correct to 3 decimal places). 

  D“Mìü…¨ çÜÒ$MæüÆæÿ×êË @̄þ$ Vú‹Ü & íÜyðþÌŒý ç³§æþ®† §éÓÆ> Ýë«̈ … è̂þ…yìþ. 

   10�� − 2�� − �� − �� = 3 

   −2�� + 10�� − �� − �� = 15 

   −�� − �� + 10�� − 2�� = 15 

   −�� − �� − 2�� + 10�� = −9. 

   (Correct to 3 decimal places). 

———————— 



 

  

 

     (DAPOL 31) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Political Science  

Paper III – POLITICAL THOUGHT 

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

1. Explain the features of Artha Sastra of Kautilya. 

 MúsìýË$Å° AÆæÿ¦Ô>çÜˆÐ@þ¬ Ë„æü×êË @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

2. "Hobbes is an Individualist" - Analyse. 

 "çßý»ŒýÞ Ð@þÅMìü¢ “ÔóýÄñý*Ðé¨' & ÑÔóýÏíÙ… è̂þ$Ð@þ¬. 

3. Write an essay on Bentham's utilitarianism. 

 »ñý…£éÐŒþ$ Eç³Äñý*W™éÐé§æþ íÜ§é®…™èþ…Oò³ JMæü ÐéÅçÜ… {ÐéÄ¶ý¬Ð@þ¬. 

4. Discuss Aristotles views on Revolutions. 

 Ñç³ÏÐéËOò³ AÇÝëtsìýÌŒý ¿êÐéË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

5. Examine political ideas of Jawaharlal Nehru. 

 fÐ@þçßýÆŠÿÌêÌŒý ð̄þ{çßý* Æ>f±† ¿êÐéË @̄þ$ ç³ÇÖÍ…ç³#Ð@þ¬. 

6. Explain Ambedkar's views on Social Justice. 

 ÝëÐ@þ*hMæü ¯éÅÄ¶ý$…Oò³ A…»ôý§æþPÆŠÿ AÀ{´ëÄ¶ý$Ð@þ¬Ë @̄þ$ ™ðþË$ç³#Ð@þ¬. 

 SECTION B — (3 × 7 = 21 marks) 

 Answer any THREE of the following questions. 

7. Make a critical appraised of Gandhian thought. 

 V>…«©i Æ>f±† ¿êÐéË @̄þ$ ÑÐ@þ$ÆæÿØ¯é™èþÃMæü çÜÒ$„æü ó̂þÄ¶ý¬Ð@þ¬. 

8. Write an essay on M.N.Roy's Radical Humanism. 

 G….G¯Œþ.Æ>ÄŒý$ Äñý¬MæüP A¿æý$Å§æþÄæý$ Ð@þ* @̄þÐ@þ™éÐé§æþÐ@þ¬Oò³ JMæü ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. 

9. Write an essay on B.R. Ambedkar 

 ¼.BÆŠÿ. A…»ôý§æþPÆŠÿOò³ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

10. Explain features of Plato's Ideal state. 

 õ³ÏsZ B§æþÆæÿØ Æ>fÅ Ë„æü×êË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 



     

  

 

11. Discuss Aristotle's classification of constitutions. 

 AÇÝëtsìýÌŒý Æ>gêÅ…V>Ë Ð@þÈYMæüÆæÿ×ý @̄þ$ è̂þÇa… è̂þ…yìþ.  

12. Describe the Gandhiji's views on truth and Non-violence. 

 çÜ™èþÅ…, Aíßý…çÜËOò³ V>…«©i ¿êÐéË @̄þ$ Ð@þÇ~…ç³#Ð@þ¬. 

 SECTION C — (3 × 3 = 9 marks) 

 Answer any THREE of the following questions. 

13. Varnashrama Dharma - Manu view. 

 Ð@þÆ>~“Ô¶ýÐ@þ$ «§æþÆæÿÃ…Oò³ Ð@þ$ @̄þ$ ¿êÐéË$ 

14. Aristotle views on Democracy. 

 {ç³gêÝëÓÐ@þ$Å…Oò³ AÇÝëtsìýÌŒý AÀ{´ëÄ¶ý*Ë$ 

15. Ends and Means theory of Gandhi 

 Ë„>ÅË$ Ð@þ$ÇÄ¶ý¬ Ýë«§æþ¯éË$Oò³ V>…«© íÜ§é®…™èþ… 

16. Popular Sovereignty. 

 {ç³gêÝëÆæÿÓ¿oÐ@þ*«̈ M>Ææÿ… 

17. Kautilya's Mandala Theory. 

 MúsìýË$Å° Ð@þ$…yæþË íÜ§é®…™èþ…. 

 SECTION D — (24 marks) 

18. (a) Answer the following in 1 or 2 sentences.  (10 × 2 = 20) 

  (i) Danda Neeti 

  §æþ…yæþ±† 

  (ii) Manu Smruthi 

   Ð@þ$ @̄þ$çÜÃ –† 

  (iii) Hegel's Idealism 

   òßýVðüÌŒý B§æþÆæÿØÐé§æþÐ@þ¬  

  (iv) Revolutions 

   Ñç³ÏÐéË$ 

  (v) Karl Marx 

   M>ÆŠÿÏ Ð@þ*ÆŠÿPüÞ 

  (vi) Liberal Democracy 

   E§éÆæÿÐé§æþ {ç³gêÝëÓÐ@þ$ÅÐ@þ¬ 



     

  

 

  (vii) Total Revolution 

   çÜ…ç³NÆæÿ~ Ñç³ÏÐ@þ… 

  (viii) Civil Society 

   ´ûÆæÿçÜÐ@þ*f… 

  (ix) Welfare State 

   çÜ…„óüÐ@þ$Æ>fÅ… 

  (x) Citizenship. 

   ´ûÆæÿçÜ™èþÓ…. 

 (b) Answer the following in 1 or 2 words. (4 × 1 = 4) 

  (i) Polity 

  ´ëÍsìý 

  (ii) Dos Capital 

   §é‹Ü Móüí³rÌŒý 

  (iii) Father of Political science 

   Æ>f±† Ô>çÜ̂ í³™éÐ@þ$çßý$yæþ$ 

  (iv) Communism. 

   MæüÐ@þÊÅ°f…. 

———————— 



   

  

 (DAPOL 32) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

Political Science 

Paper IV(E) — GOVERNMENT AND POLITICS OF ANDHRA PRADESH 

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

1. Discuss Socio-economic principles of the constitution of India. 

 ¿êÆæÿ™èþ Æ>gêÅ…Væü ÝëÐèþ*hMæü & BÇ¦Mæü çÜ*{™éË è̄þ$ è̂þÇa… è̂þ$Ðèþ$$. 

2. Describe the powers and functions of Governor of Andhra Pradesh. 

 B…{«§æþ{ç³§óþÔŒý VæüÐèþÆæÿ²ÆŠÿ Äñý$$MæüP A«̈ M>Æ>Ë$ Ðèþ$ÇÄæý$$ Ñ«§æþ$Ë¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

3. How is the speaker of the state legislature elected? What are his powers? 

 Æ>çÙ‰ Ô>çÜ è̄þ çÜ¿æý ïÜÓMæüµÆŠÿ¯èþ$ H Ñ«§æþ…V> G¯èþ$²Mæü$…sêÆæÿ$? A™èþ° A«̈ M>Æ>Ë$ HÑ? 

4. Explain about the political parties in the state. 

 Æ>çÙ‰…ÌZ Æ>fMîüÄæý$ ´ëÈtË$ Væü*Ça ™ðþË$µÐèþ$$. 

5. Discuss the role of chief secretary in the state government. 

 Æ>çÙ‰ {ç³¿æý$™èþÓ…ÌZ {ç³«§é¯èþ (Ðèþ$$QÅ M>ÆæÿÅ§æþÇØ) M>ÆæÿÅ§æþÇØ Äñý$$MæüP ´ë{™èþ¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE of the following questions. 

6. Discuss the role of Chief Minister. 

 Æ>çÙ‰́ ëË¯èþÌZ Ðèþ$$QÅÐèþ$…{† ´ë{™èþ¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 

7. Good Governance. 

 çÜ$ç³Ç´ëË è̄þ. 

8. Explain the major functions of APPSC. 

 B…{«§æþ{ç³§óþÔŒý ç³¼ÏMŠü çÜÈÓ‹Ü MæüÒ$çÙ¯Œþ {ç³«§é¯èþ Ñ«§æþ$Ë$¯èþ$ ™ðþË$µÐèþ$$. 



   

   

9. Describe the objectives of Panchayat Raj. 

 ç³…^éÆÿ$$¡Æ>gŒý Äñý$$MæüP Ë„>ÅË è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

10. Analyse the voting behaviour. 

 Ksìý…VŠü (çÜÆæÿã) {ç³ÐèþÆæÿ¢̄ èþ¯èþ$ ÑÔóýÏíÙ… è̂þ$Ðèþ$$. 

11. What is the role of caste politics in Andhra Pradesh? 

 B…{«§æþ{ç³§óþÔŒýÌZ Mæü$Ë Æ>fMîüÄæý$Ë ´ë{™èþ HÑ$sìý? 

SECTION C — (3 × 3 = 9 marks) 

Answer any THREE of the following questions. 

12. (a) Council of Ministries.  

  Ðèþ$…{† Ðèþ$…yæþÍ. 

 (b) High Court. 

  òßýO MøÆæÿ$t. 

 (c) Corruption. 

  AÑ±† 

 (d) Pressure groups. 

  J†¢ çÜÐèþ$$çßýË$. 

 (e) Regional Parties. 

  {´ë…¡Äæý$ ´ëÈtË$. 

 (f) Judicial activism. 

  ¯éÅÄæý$ Ô>Q {MìüÄæý*ÖË™èþ. 

 (g) Round table conference. 

  Æú…yæþ$ sôýº$ÌŒý çÜÐèþ*ÐóþÔ>Ë$. 

 

SECTION D — (24 marks) 

13. (a) Answer the following in 1 or 2 sentences : (10 × 2 = 20) 

  (i) State election commission. 

   Æ>çÙ‰ G°²MæüË çÜ…çœ$Ðèþ$$. 

  (ii) Legislature. 

   Ô>çÜ¯èþ Ô>Q. 



   

   

  (iii) Finance Minister. 

   BÇ¦Mæü Ðèþ$…{†. 

  (iv) Welfare programmes. 

   çÜ…„óüÐèþ$ ç³£æþM>Ë$. 

  (v) R.T.I. 

   çÜÐèþ*^éÆæÿç³# çßýMæü$P. 

  (vi) A.C.B. 

   G.íÜ.¼.  

  (vii) Tribal Movements. 

   WÇf¯èþ E§æþÅÐèþ*Ë$. 

  (viii)   

 

  (ix)  Committee system. 

   MæüÑ$sîý ç³§æþ®†. 

  (x) Political history. 

   Æ>fMîüÄæý$ è̂þÇ{™èþ. 

 (b) Answer the following in 1 or 2 words : (4 × 1 = 4) 

  (i) 356 article. 

   356 A«̈ MæüÆæÿ×ýÐèþ$$. 

  (ii) Telangana. 

   ™ðþË…V>×ý. 

  (iii) Sarpanch. 

   çÜÆæÿµ… Œ̂þ. 

  (iv) Opposition party. 

   {ç³†ç³„æüÐèþ$$. 

–––––––––––––––– 



  

    (DAPOL 33) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Political Science 

Paper IV(E) — INTERNATIONAL RELATIONS 

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following. 

1. Describe the nature, scope and importance of international relations. 

 A…™èþÆ>j¡Äæý$ çÜ…º…«§éË$, çÜÓ¿êÐèþ… Ðèþ$ÇÄæý$$ ç³Ç«̈ °, {´ëÐèþ$$QÅ™èþ¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

2. Discuss the basic determinates of international relations. 

 A…™èþÆ>j¡Äæý$ çÜ…º…«§éË$¯èþ$ {ç³«§é¯èþ…V> °Æ>~Äæý$M>Ë è̄þ$, A…Ô>Ë¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 

3. Explain the elements of modern nation-state. 

 B«§æþ$°Mæü gê† & §óþÔèý… Äñý$$MæüP A…Ô>Ë$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

4. Evaluate the achievements of the UNO in maintaining and resorting peace. 

 IMæüÅÆ>fÅ çÜÑ$† Äñý$$MæüP Ë„>ÅË$ Ýë«̈ …_ è̄þ ÑfÄæý*Ë$ Ðèþ$ÇÄæý$$ Ô>…†° ¯ðþËMøËµyæþ… è̄þ$ A… è̂þ¯èþ¯èþ$ 

ÑÔóýÏíÙ… è̂þ$Ðèþ$$. 

5. Explain the causes of the Second World War. 

 Æðÿ…yæþ$Ðèþ {ç³ç³… è̂þ Äæý$$§æþ®Ðèþ$$¯èþMæü$ VæüË M>Ææÿ×êË è̄þ$ ™ðþË$µÐèþ$$. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE of the following. 

6. Explain the main and fall of colonialism in the world. 

 {ç³ç³… è̂þÐèþ$$ÌZ ÐèþËçÜÐé§æþÐèþ$$ ò³Ææÿ$Væü$§æþË Ðèþ$ÇÄæý$$ ç³™èþ¯èþÐèþ$$¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

7. Examine the causes of first world war. 

 Ððþ$$§æþsìý {ç³ç³… è̂þ Äæý$$§æþ®…¯èþMæü$ VæüË M>Ææÿ×êË è̄þ$ ÑÔóýÏíÙ… è̂þ$Ðèþ$$. 

8. Discuss the orgin of international relations. 

 A…™èþÆ>j¡Äæý$ çÜ…º…«§éË ç³#r$tMæü Væü$Ç…_ è̂þÇa… è̂þ$Ðèþ$$. 



  

   

   

9. Explain the characteristics of third world countries. 

 Ðèþ$*yæþÐèþ {ç³ç³… è̂þ §óþÔ>Ë$ Äñý$$MæüP Ë„æü×ýÐèþ$$Ë$ ÑÐèþÇ…ç³#Ðèþ$$. 

10. Write about the efforts for the formation of the League of nations. 

 ¯é¯égê† çÜÑ$† HÆ>µr$ Ðèþ$ÇÄæý$$ Mæü–íÙ° {ÐéÄæý$$Ðèþ$$. 

SECTION C — (3 × 3 = 9 marks) 

Answer any THREE of the following. 

11. (a) UNO General Assembly. 

  UNO f¯èþÆæÿÌŒý AòÜ…½Ï. 

 (b) Super power. 

  A™èþ$Å¯èþ²™èþ A«̈ M>Ææÿ…. 

 (c) International peace. 

  A…™èþÆ>j¡Äæý$ Ô>…†. 

 (d) Nationalism. 

   gê¡Äæý$Ðé§æþ…. 

 (e) Balance of power. 

  {´ëºËÅ çÜÐèþ$™úËÅ…. 

 (f) Globalisation. 

  {ç³ç³…`MæüÆæÿ×ý. 

 (g) Arms control. 

  BÄæý$$«§æþ °Äæý$…{™èþ×ý. 

SECTION D — (24 marks) 

12. (a) Answer the following in 1 or 2 sentences : (10 × 2 = 20) 

  (i) Cold war. 

   {ç³ è̂þe¯èþ² Äæý$$§æþ®…. 
  (ii) SAARC. 

   ÝëÆŠÿP. 

  (iii) Pancha Sheela. 

   ç³…^èþÖÍ. 

  (iv) BRICS Nations. 

   {¼MŠüÞ §óþÔ>Ë$. 



  

   

   

  (v) Mandate system. 

   Bfq íÜ§é®…™èþÐèþ$$. 

  (vi) Terrorism. 

   ¡{ÐèþÐé§æþÐèþ$$. 

  (vii) OPEC. 

   Kò³MŠü. 

  (viii) Veto power. 

   ÒsZ¤M>Ææÿ…. 

  (ix) USA relations. 

   AÐðþ$ÇM> çÜ…º…«§éË$. 

  (x) Collective security. 

   çÜÑ$íÙt ¿æý{§æþ™èþ. 

 (b) Answer the following  1 of 2 words : (4 × 1 = 4) 

  (i) USSR. 

   Äæý$$.G‹Ü.G‹Ü.BÆŠÿ. 

  (ii) Treaty. 

   Kyæþ…ºyìþMæü. 

  (iii) World politics. 

   {ç³ç³… è̂þ Æ>f±†. 

  (iv) Nuclear policy. 

   A×ý$ Ñ«§é¯èþ…. 

–––––––––––––––– 



  

    (DAPOL 34) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Political Science 

Paper IV(E) — PUBLIC ADMINISTRATION CONCEPTS AND THEORIES   

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO questions. 

1. Explain the nature, scope and importance of public administration. 

 {ç³¿æý$™èþÓ ´ëË¯é Ô>çÜˆÐèþ$$ Äñý$$MæüP {´ëÐèþ$$QÅ™èþ¯èþ$, çÜÓ¿êÐèþ… Ðèþ$ÇÄæý$$ ç³Ç«̈ ° ÑÐèþÇ… è̂þ$Ðèþ$$. 

2. Describe the relationship between sociology and public administration. 

 çÜÐèþ*f Ô>çÜˆÐèþ$$¯èþMæü$ Ðèþ$ÇÄæý$$ {ç³¿æý$™èþÓ ´ëË¯é Ô>çÜˆÐèþ$$¯èþMæü$ VæüË çÜ…º…«§æþÐèþ$$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

3. What is Leadership? Examine the different theories of leadership. 

 ¯éÄæý$Mæü™èþÓ… A…sôý HÑ$sìý? ÑÑ«§æþ ¯éÄæý$Mæü™èþÓ íÜ§é®…™éË¯èþ$ ç³ÇÖÍ…ç³#Ðèþ$$. 

4. Explain Mayo's Human relations approach. 

 Ðóþ$Äñý* Ðèþ* è̄þÐèþ çÜ…º…«§éË$ §æþ–Mæüµ£æþ… Væü*Ça ÑÐèþÇ… è̂þ$Ðèþ$$. 

5. Describe the importance of public administration in developing society. 

 AÀÐèþ– ®̈ ð̂þ…§æþ$™èþ$¯èþ² çÜÐèþ*f…ÌZ {ç³¿æý$™èþÓ ´ëË¯é Ô>çÜˆ… Äñý$$MæüP {´ëÐèþ$$QÅ™èþ¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Describe the functions of staff agencies. 

 Ýët‹œ Hgñý±Þ Ñ«§æþ$Ë¯èþ$ Væü*Ça ™ðþË$µÐèþ$$. 

7. Write an essay on coordination. 

 çÜÐèþ$¯èþÓÄæý$…ò³O JMæü ÐéÅçÜÐèþ$$ {ÐéÄæý$$Ðèþ$$. 

8. Examine the merits of decentralisation. 

 ÑMóü…{©MæüÆæÿ×ý Eç³Äñý*V>Ë è̄þ$ ç³ÇÖÍ… è̂þ$Ðèþ$$. 

9. Explain Max Weber's concepts of Bureaucracy. 

 Ðèþ*MŠüÞÐðþºÆŠÿ E§øÅVæüÝëÓÐèþ$Å íÜ§é®…™èþÐèþ$$¯èþ$ Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 



  

   

   

10. Explain the objectives of e-governance. 

 GË[M>t°MŠü ´ëË¯é Ë„>ÅË$¯èþ$ ÑÐèþÇ…ç³#Ðèþ$$. 

11. Explain different types of supervision. 

 ç³ÆæÿÅÐóþ„æü×ýÌZ ÑÑ«§æþ ÆæÿM>Ë$ è̄þ$ Væü*Ça ÑÐèþÇ… è̂þ$Ðèþ$$. 

12. How public policy is formulated? 

 {ç³¿æý$™èþÓ Ñ«§é¯èþ Ææÿ*ç³MæüËµ¯èþ GÌê ó̂þÝë¢Ææÿ$ ™ðþË$µÐèþ$$? 

SECTION C — (3 × 3 = 9 marks) 

Answer any THREE questions. 

13. (a) New public administration. 

  ¯èþ*™èþ¯èþ {ç³¿æý$™èþÓ ´ëË¯é. 

 (b) Globalisation. 

  {ç³ç³…`MæüÆæÿ×ý. 

 (c) Decision making. 

  °Ææÿ~Æÿ$*MæüÆæÿ×ý. 

 (d) Delegated Legislation. 

  §æþ™èþ¢ Ô>çÜ è̄þ…. 

 (e) Unity of command. 

  Bfq HMæü™èþÓ…. 

 (f) Communication. 

  çÜÐèþ*^éÆæÿ…. 

 (g) Herbert Simon. 

  òßýÆŠÿºÆŠÿt òÜOÐèþ$¯Œþ. 

SECTION D — (24 marks) 

14. (a) Answer the following 1 or 2 sentences : (10 × 2 = 20) 

  (i) Riggs. 

   ÇVŠüÞ. 

  (ii) Hierarchy of needs. 

   AÐèþçÜÆ>Ë$ {MæüÐèþ$×ìýVæü™èþ. 

  (iii) Social needs. 

   ÝëÐèþ*hMæü AÐèþçÜÆ>Ë$. 



  

   

   

  (iv) McGregor. 

   Ððþ$MŠü{VðüVæüÆŠÿ. 

  (v) Karl Marx. 

   M>ÆŠÿÏ Ðèþ*ÆŠÿPüÞ. 

  (vi) Chief Executive. 

   Ðèþ$$QÅ M>ÆæÿÅ °ÆæÿÓçßýM>«̈ M>Ç. 

  (vii) Gullick. 

   VæüÍÏMŠü. 

  (viii) Theory X. 

   X íÜ§é®…™èþÐèþ$$. 

  (ix) Span of control. 

   BÐèþÆæÿ×ý °Äæý$…{™èþ×ý.  

  (x) Likert. 

   ÌñýOMæüÆŠÿt. 

 (b) Answer the following in 1 or 2 words : (4 × 1 = 4) 

  (i)  

 

  (ii)  

 

  (iii)  

 

  (iv)  

 

–––––––––––––––– 



 

  

 

     (DAECO 31) 

B.A. DEGREE EXAMINATIONS, DECEMBER 2019. 

Third Year 

Economics 

Paper – III(E) — ECONOMIC STATISTICS 

Time : Three hours Maximum : 70 marks 

SECTION A — (2 × 15 = 30 marks) 

Answer any TWO of the following questions. 

1. Calculate Arithmetic Mean for the following data. 

Class Interval:  4-10 10-16 16-22 22-28 28-34 34-40 40-46 

Frequency: 2 8 19 35 18 14 4 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þMæü$ A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬¯@þ$ ÌñýMìüP… è̂þ…yìþ. 
™èþÆæÿVæü† A…™èþÆæÿÐ@þ¬ 4-10 10-16 16-22 22-28 28-34 34-40 40-46 

´û @̄þ]ç³# @̄þÅ… 2 8 19 35 18 14 4 

2. Compute Mean deviation and its co-efficient from Median. 

x: 400 600 800 1000 1200 1400 1600 

f: 20 10 30 60 40 30 10 

 Ð@þ$«§æþÅVæü™èþ… @̄þ$ Eç³Äñý*W…_ Ð@þ$«§æþÅÐ@þ$ Ñ è̂þË¯é°² Ð@þ$ÇÄ¶ý¬ §é° Væü$×ýM>°² ÌñýMìüP… è̂þ…yìþ. 
x: 400 600 800 1000 1200 1400 1600 

f: 20 10 30 60 40 30 10 

3. What are the different methods of finding out correlation? Discuss briefly their merits and 

demerits. 

 çÜçßýçÜ…º…«§æþ… Mæü @̄þ$Vö @̄þ$rMæü$V> @̄þ$ VæüË ÑÑ«§æþ ç³§æþ®™èþ$Ë$ HÑ? Ðésìý Äñý¬MæüP çÜ$Væü$×êË @̄þ$ Ð@þ$ÇÄ¶ý¬ §øÚëË @̄þ$ Mæü$Ïç³¢…V> 
è̂þÇa… è̂þ…yìþ. 

4. Explain the various types of Index number. 

 ÑÑ«§æþ ÆæÿMæüÐ@þ¬OÌñý @̄þ çÜ*`çÜ…QÅË @̄þ$ Væü*Ça ÑÐ@þÇ… è̂þ…yìþ.  

 SECTION B — (3 × 8 = 24 marks) 

 Answer any THREE of the following question. 

5. Find Two regression lines for the data: 

x: 66 38 56 42 72 36 63 47 55 45 

y: 145 124 147 125 160 118 149 128 150 124 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þMæü$ Æðÿ…yæþ$ {ç³†VæüÐ@þ$×ý çÜÒ$MæüÆæÿ×êË @̄þ$ Mæü @̄þ$Vö¯@þ…yìþ. 
x: 66 38 56 42 72 36 63 47 55 45 

y: 145 124 147 125 160 118 149 128 150 124 



     

 

 

6. Calculate mode from the following data. 

x: 30-50 50-70 70-90 90-110 110-130 130-150 150-170 

f: 7 17 34 48 32 14 3 

 ¨Væü$Ð@þ §æþ™é¢…Ô>°Mìü V> @̄þ$ ºçßý$â¶ýMæüÐ@þ¬ @̄þ$ Mæü @̄þ$Vö @̄þ…yìþ. 
x: 30-50 50-70 70-90 90-110 110-130 130-150 150-170 

f: 7 17 34 48 32 14 3 

7. Calculate Rank correlation coefficient from the following data. 

x: 48 33 40 9 16 16 65 24 16 57 

y: 13 13 24 6 15 4 20 9 9 19 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$…yìþ MøsîýçÜçßýçÜ…º…«§æþ Væü$×ýMæüÐ@þ¬ Væü×ý¯@þ ó̂þÄ¶ý$…yìþ.  
x: 48 33 40 9 16 16 65 24 16 57 

y: 13 13 24 6 15 4 20 9 9 19 

8. Compute fisher's ideal index number from the following data: 

Items Quantity Value in 'Rs.' 

2015 2018 2015 2018 

P 

Q 

R 

S 

100 

80 

60 

30 

150 

100 

72 

33 

500 

320 

150 

360 

900 

500 

360 

290 

 ¨Væü$Ð@þ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þMæü$ íœçÙÆŠÿ B§æþÆæÿØ çÜ*` çÜ…QÅ @̄þ$ ÌñýMìüP… è̂þ…yìþ. 
Ð@þçÜ$¢Ð@þ#Ë$ ç³ÇÐ@þ*×ý… ÑË$Ð@þ (Ææÿ*‘‘) 

2015 2018 2015 2018 

P 

Q 

R 

S 

100 

80 

60 

30 

150 

100 

72 

33 

500 

320 

150 

360 

900 

500 

360 

290 

9. What is Primary Data? Discuss the different methods of collecting primary data. 

 {´ë£æþÑ$Mæü §æþ™é¢…Ô¶ýÐ@þ¬ A¯@þV> ó̄þÑ$? {´ë£æþÑ$Mæü §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$ õÜMæüÇ… è̂þ$ ÑÑ«§æþ ç³§æþ®™èþ$Ë¯@þ$ è̂þÇa… è̂þ…yìþ. 

10. What are the objects and importance of Diagrams? 

 yæþÄ¶ý*“V>ÐŒþ$Ë Äñý¬MæüP E§óþªÔ>ÅË$ Ð@þ$ÇÄ¶ý¬ {´ëÐ@þ¬QÅ™èþ HÑ$? 

 SECTION C — (4 × 4 = 16 marks) 

 Answer any FOUR of the following questions. 

11. Distrust of statistics 

 Ýë…QÅMæüÔ>çÜ̂…Oò³ Aç³¯@þÐ@þ$ÃMæü… 

12. Functions of Averages 

 çÜVæür$ Äñý¬MæüP Ñ«§æþ$Ë$ 



     

 

 

13. Merits of Geometric Mean 

 Væü$×ýÐ@þ$«§æþÅÐ@þ$Ð@þ¬ Äñý¬MæüP Ìê¿êË$ 

14. Meaning of Range and limitations 

 ÐéÅí³¢ AÆæÿ¦… Ð@þ$ÇÄ¶ý¬ ç³ÇÑ$™èþ$Ë$ 

15. Seasonal Variation 

 º¬™èþ$Væü™èþ Ñ è̂þÆæÿ×êË$ 

16. Cost of living index number 

 iÐ@þ @̄þÐ@þÅÄ¶ý$ çÜ*`çÜ…QÅ 

17. Difference between Schedule and Questionnaire. 

 òÙyæþ*ÅÌŒý Ð@þ$ÇÄ¶ý¬ {ç³Ô>²Ð@þã Ð@þ$«§æþÅ ™óþyéË$ 

18. Simple and Multiple correlation. 

 Ýë«§éÆæÿ×ý Ð@þ$ÇÄ¶ý¬ ºçßý$â¶ý çÜçßýçÜ…º…«§æþ… 

———————— 



   

  

 

 (DAECO 32) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

Economics  

Paper III(E) — PUBLIC ECONOMICS 

Time : Three hours              Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

1. Explain the principle of maximum social advantage. 

 VæüÇçÙx Ýë…íœ$Mæü {ç³Äñý*f è̄þ íÜ§é®…™é°² ÑÐèþÇ… è̂þ$Ðèþ$$. 

2. What are the characteristics of a good tax system? 

 Ðèþ$…_ ç³¯èþ$²Ë Ñ«§é¯èþ… Äñý$$MæüP Ë„æü×êË è̄þ$ ™ðþË$µÐèþ$$. 

3. Describe the causes for growth of public debt in India. 

 ¿êÆæÿ™èþ§óþÔèý…ÌZ {ç³¿æý$™èþÓ º$$×ý… ò³Ææÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

4. Write about proportional and progressive taxes.  

 A¯èþ$´ë™èþ ç³¯èþ$²Ë$ Ðèþ$ÇÄæý$$ ç³#ÆøV>Ñ$ ç³ è̄þ$²Ë Væü$Ç…_ {ÐéÄæý$$Ðèþ$$. 

SECTION B — (3 × 14 = 42 marks) 

Answer any THREE of the following questions. 

5. Explain the merits and demerits of direct taxes. 

 {ç³™èþÅ„æü ç³ è̄þ$²Ë çÜ$Væü$×êË Ðèþ$ÇÄæý$$ §øÚëË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

6. What are the causes for growth of public expenditure? 

 {ç³¿æý$™èþÓ ÐèþÅÄæý$… ò³Ææÿ$Væü$§æþËMæü$ VæüË M>Ææÿ×êË¯èþ$ ™ðþË$µÐèþ$$. 

7. Discuss the effects of taxes on production and distribution. 

 E™èþµ†¢ Ðèþ$ÇÄæý$$ ç³…í³×îýËò³O ç³¯èþ$²Ë {ç³¿êÐéË¯èþ$ è̂þÇa… è̂þ$Ðèþ$$. 



   

  

8. Critically examine the growth  of public enterprises in India. 

 ¿êÆæÿ™èþ§óþÔèý…ÌZ {ç³¿æý$™èþÓ Ææÿ…Væü çÜ…çÜ¦Ë ò³Ææÿ$Væü$§æþË¯èþ$ ÑÐèþ$ÆæÿØ¯é™èþÃMæü…V> ç³ÇÖÍ… è̂þ$Ðèþ$$. 

9. What are the effects of public debt? And explain the methods of redemption of 

public debt. 

 {ç³¿æý$™èþÓ º$$×ý… ÐèþËÏ MæüÌôýY {ç³¿êÐéË¯èþ$ ™ðþÍµ {ç³¿æý$™èþÓ º$$×ý ÑÐðþ* è̂þ¯é ç³§æþ®™èþ$Ë¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

10. Define tax shifting and explain the various ways of tax shifting. 

 ç³¯èþ$² º¨Î A¯èþV> °ÆæÿÓ_…_, ç³ è̄þ$² º§æþÌêÆÿ$$…ç³#Mæü$ VæüË ÑÑ«§æþ Ðèþ*Æ>YË¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following questions. 

11. Public finance and private finance. 

 {ç³¿æý$™èþÓ Ñ™èþ¢Ðèþ$$ Ðèþ$ÇÄæý$$ [ò³OÐóþr$ Ñ™èþ¢Ðèþ$$. 

12. Incidence of tax and impact of tax. 

 ç³¯èþ$² ¿êÆæÿÐèþ$$ Ðèþ$ÇÄæý$$ ç³¯èþ$² {ç³¿êÐèþÐèþ$$. 

13. Internal debt and external debt. 

 A…™èþÆæÿY™èþ º$$×ýÐèþ$$ Ðèþ$ÇÄæý$$ ºíßýÆæÿY™èþ º$$×ýÐèþ$$. 

14. Deficit financing. 

 ÌZr$ Ñ™èþ¢Ðèþ$$. 

15. Personal income tax and corporate income tax. 

 ÐèþÅíÙx B§éÄæý$ ç³¯èþ$² Ðèþ$ÇÄæý$$ M>ÆöµÆóÿr$ B§éÄæý$ç³¯èþ$². 

16. Fiscal policy. 

 MøÔèý Ñ«§é¯èþÐèþ$$. 

–––––––––––––––– 



   

  

                                  (DAECO 33) 

B.A. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

Economics 

Paper IV — RURAL DEVELOPMENT 

Time : Three hours                                                                             Maximum : 70 marks 

SECTION A — (2 × 8 = 16 marks) 

Answer any TWO of the following questions. 

1. Define Rural Development and explain the scope and importance of Rural 

Development. 

 {V>Ò$×êÀÐèþ–¨®° °ÆæÿÓ_…_, {V>Ò$×êÀÐèþ– ®̈ ç³Ç«̈  Ðèþ$ÇÄæý$$ {´ë«§é è̄þÅ™èþË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

2. Write about the sources of rural credit in India. 

 ¿êÆæÿ™èþ§óþÔèý…ÌZ {V>Ò$×ý ç³Ææÿç³† B«§éÆ>Ë è̄þ$ Væü$Ç…_ {ÐéÄæý$$Ðèþ$$. 

3. Examine various antipoverty programmes introduced by the Government for 

upliftment of rural poor. 

 {V>Ò$×ý õ³§æþÐéÇ iÐèþ¯èþçÜÆæÿã ò³Ææÿ$Væü$§æþËMæü$ {ç³¿æý$™èþÓ… {ç³ÐóþÔèýò³sìýt̄ èþ ÑÑ«§æþ õ³§æþÇMæü °Ææÿ*ÃË¯èþ ç³£æþM>Ë è̄þ$ 
ç³ÇÖÍ… è̂þ$Ðèþ$$. 

4. Explain the impact of rural migration on Rural Development. 

 {V>Ò$×êÀÐèþ–¨®ò³O {V>Ò$×  ÐèþËçÜË {ç³¿êÐé°² ÑÐèþÇ… è̂þ$Ðèþ$$. 

SECTION B — (3 × 14 = 42 marks)  

Answer any THREE of the following questions. 

5. What are the causes for rural indebedness? Explain the measures required to 

control rural indebtedness. 

{V>Ò$×ý º$$×ý¿êÆ>°Mìü VæüË M>Ææÿ×êË è̄þ$ ™ðþÍµ, º$$×ê¿êÆ>°² °Äæý$…{™èþ×ý ó̂þÄæý$$rMæü$ AÐèþçÜÆæÿÐðþ$Ō èþ 
è̂þÆæÿÅË è̄þ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 



   

  

6. Describe the role of college and small scale industries in rural development. 

 {V>Ò$×êÀÐèþ–¨®ÌZ Mæü$sîýÆæÿ ç³Ç{ÔèýÐèþ$Ë$ Ðèþ$ÇÄæý$$ _¯èþ² ™èþÆæÿà ç³Ç{ÔèýÐèþ$Ë ´ë{™èþ¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

7. Write an essay on Rural Development Programmes. 

 {V>Ò$×êÀÐèþ–¨® ç³£æþM>Ëò³O JMæü ÐéÅçÜÐèþ$$¯èþ$ {ÐéÄæý$$Ðèþ$$. 

8. Briefly explain about various institution participating in Rural Development. 

 {V>Ò$×êÀÐèþ–¨®ÌZ ´ëÌŸȲ óþ ÑÑ«§æþ çÜ…çÜ¦Ë¯èþ$ Væü$Ç…_ Mæü$Ïç³¢…V> ÑÐèþÇ… è̂þ$Ðèþ$$. 

9. What is the pattern of land holdings? Explain the inequalities in the distribution 

of land holdings. 

 ¿æý*MæüÐèþ$™éË çÜÓ¿êÐé°² ™ðþÍµ, ¿æý*MæüÐèþ$™éË ç³…í³×ìýÌZ AçÜÐèþ*¯èþ™èþË¯èþ$ ÑÐèþÇ… è̂þ$Ðèþ$$. 

10. What are the causes for rural unemployment? Explain the measures required to 

solve the problem of unemployment. 

 {V>Ò$×ý °Ææÿ$§øÅV>°Mìü M>Ææÿ×êË$ ™ðþÍµ, {V>Ò$×ý °Ææÿ$§øÅVæü çÜÐèþ$çÜÅ °ÐéÆæÿ×ýMæü$ AÐèþçÜÆæÿÐðþ$Ō èþ ^èþÆæÿÅË¯èþ$ 
ÑÐèþÇ… è̂þ$Ðèþ$$. 

SECTION C — (3 × 4 = 12 marks) 

Answer any THREE of the following questions. 

11. Family welfare programmes. 

 Mæü$r$…º çÜ…„óüÐèþ$ ç³£æþM>Ë$. 

12. Minimum wage legislation. 

 Mæü±çÜ Ðóþ™èþ¯éË è̂þrtÐèþ$$. 

13. Rural indebtedness. 

 {V>Ò$×ý º$$×ý¿êÆæÿÐèþ$$. 

14. Integrated Rural Development Programme. 

 çÜÒ$Mæü–™èþ {V>Ò$×êÀÐèþ– ®̈ ç³£æþMæüÐèþ$$. 

15. Agro based industries. 

 ÐèþÅÐèþÝëÄæý$ A¯èþ$º…«§æþ ç³Ç{ÔèýÐèþ$Ë$. 

16. District industries centres. 

 hÌêÏ ´ëÇ{Ô>Ñ$Mæü Móü…{§éË$. 


